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QUESTION 1

Which element of the Cisco SD-WAN architecture facilitates the functions of controller discovery and NAT traversal?
A. vBond orchestrator

B. vManage

C. vSmart controller

D. vEdge

Correct Answer: A

QUESTION 2
Which Cisco product were incorporated into Cisco ISE between ISE releases 2.0 and 2.3?
A. Cisco ASA
B. Cisco ESA
C. Cisco ACS
D. Cisco WSA

Correct Answer: C

QUESTION 3

Which three options focus of the current digital business era? (Choose three.)
A. loT scale

B. connectivity

C. virtualized services

D. automation

E. centralized enterprise and web applications

F. Human scale

Correct Answer: ACD

QUESTION 4

Which option will help build your customers platform during the discovery phase?
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A. business case
B. detailed design
C. POV report

D. high-level design
E. PO

Correct Answer: A

QUESTION 5

Which is a benefit of a cloud-based SD-WAN deployment?

A. might be required for compliance with industry standards

B. controller availability never an issue

C. security never an issue

D. agility of change dependent only on your own internal IT processes
E. instant scale

Correct Answer: E
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